# **CenLANA ASC Meeting**

### Central Louisiana Area of Narcotics Anonymous Area Service Meeting

### Meeting convened at 12:10 pm on 3-16-2024

Dustin E. opened the meeting with a moment of silence followed by the Serenity Prayer. Doug read the 12 Traditions, and Frank read the 12 Concepts.

### **Administrative Service Committee**

Chairperson- Dusitin

Present

Vice Chair- Ashley CW.

**Absent** 

Treasurer- Trevis J.

**Present** 

Secretary- Daniella P.

**Absent** 

ASR- Robbie L

**Present** 

**ASRA- VACANT** 

**Vacant** 

### **Subcommittees**

H & I- Trevis J...

**Present** 

PR-Robbie L.

**Present** 

Literature- Frank A.

Present

Policy- Erica C.

Present

Activities - Doug F.

**Present** 

### **Group Service Representatives**

Group		Voting	Host
Clean & Serene	Daniella abs w report	Yes	Apr
Jones Street	Frank A.	Yes	May
No Matter What	Robbie L.	Yes	Jun
Talking Heads	Doug F.	Yes	July
New Life Group	John P.	No	
Serenity Sisters	Erica C	Yes	Aug

Old Business: (New or unresolved business from last ASC meeting).

- Motion 240201: Address region's reason for a debit card. It was not brought to Area, we didn't have a voice.
- Intent: No conscience & looking for trouble with a card. PASS
- Motion 240202:Area to produce a binder for monthly announcements & flyers to leave at clubhouse.
- Intent: So no announcement gets left out. (Financial impact less than \$10.00) PASS

#### **New Business:**

- Voted yes to replace lost check # 1020 from May 2023 to River City Clubhouse for \$25.00.
- Reading attached Motion # 240301 which asks region to rescind regional motion # 20240107 for having a debit card and to bring a new motion back to the Area's for approval. Passed.
- Robbie discussed banners /yard signs that will be provided by Region from an allocated budget of \$276.00 per Area. A consensus was reached to have 2 ea 2 1/2' x 5' banners and 8ea 2 1/2' x 3' double sided yard signs.

Elections: ASRA still open. Nominations open next Area.

#### Announcements:

March 24 Ashley (4 years) Dustin (7 years). March 27th Frank A. (4 years). Region has activities, Secretary & Policy open. Convention Fundraiser hosted by Cenlana April 27th. Next Area April 20th Hosted by Clean & Serene

### **Final Treasurer's Report:**

### Presented and read by Trevis J:

Previous Balance: \$1,808.84
Donations/Other: \$87.50
Checks Written: \$707.00Available Balance: \$1,189.34
Money Set Aside: \$860.00Working Balance: \$329.34

20% to RSC: \$65.87 Working Balance: \$263.47

Available Balance: \$1,123.47 + \$5.00 = \$1,128.47

Motion made to accept the final Treasurer's Report. All in favor. Motion to close, all in favor

Meeting adjourned at 1:30 pm.

Secretary's Report: GSR's and Subcommittees read in silence for any corrections and then motion to approve the report.

Treasurer's Report: Read by Trevis (report attached)

Monthly Deposits:

\$113.00 + \$457.00 = \$570.00

Bank Balance:

\$1,933.84

**Previous Balance** 

\$1,808.84

Checks Outstanding: \$125.00+

Other

Available Balance:

\$1,933.84 to match bank balance

Available Balance:

\$1,808.84 actual avail bal minus checks

Money Set Aside:

\$860.00-

Working Balance:

\$948.84

The treasurer read the report to ASC to submit Motion was made to accept the Treasurer's report. The Treasurer's report was accepted by ASC.

ASR Report: Read by Robbie L.

**Subcommittee Reports:** 

H & I: Trevis read the report

(report attached)

Public Relations:

Robbie

read the report

(report attached)

Literature:

Frank

read the report

(report attached)

Policy:

Erica

read the report

(report attached)

Activities:

Doug

read the report

(report attached)

**GSR Reports:** 

Clean & Serene:

Daniella.

abs w report

(report attached)

Jones Street:

Frank A.

read the report

(report attached)

No Matter What:

Robbie

read the report

(report attached)

Talking Heads:

Doug F

read the report

(report attached)

New Life:

John P

absent

(no report)

Serenity Sisters:

Erica C

read the report

(report attached)

# **Central Area**

Treasurers Report		03/16/24
Monthly Deposit	\$113.00	02-20-24
Activities Seed Money	\$457.00	02-20-24 = \$570.00 total
Current Bank Balance	\$1,933.84	03-16-24
Previous Available Ending Balance	\$1808.84	02-17-24
Outstanding Checks:		
Outstanding checks total	\$125.00+	
Avail Balance (to match bank)	\$1,933.84	03-16-24
Subtract outstanding checks	\$125.00-	
Actual Available Balance	\$1,808.84	03-16-24
Money Set Aside:		
Prudent Reserve	\$150.00-	
Activities	\$400.00-	
H&I	\$50.00-	
P.R.	\$30.00-	
Secretary	\$30.00-	
RSC Travel	\$200.00-	
Total Money Set Aside	\$860.00-	
Total Working Balance	\$948.84	03-16-24

**Account Detail** 

# **SMALL BUSINESS-8354**

\$1,933.84

# **Pending Transactions**

No Records Available

### **Posted Transactions**

Date	Description	Withdrawal/Deposit	Balance
02/20/2024	CHECK 1047	-\$50.00	\$1,933.84
02/20/2024	CHECK 1046	-\$76.74	\$1,983.84
02/20/2024	DEPOSIT	\$457.00	\$2,060.58
02/20/2024	DEPOSIT	\$113.00	\$1,603.58
01/22/2024	CHECK 1044	-\$49.00	\$1,490.58
01/22/2024	DEPOSIT	\$108.00	\$1,539.58
01/09/2024	CHECK 1043	-\$10.54	\$1,431.58
01/08/2024	CHECK 1041	-\$200.00	\$1,442.12
01/03/2024	DEPOSIT	\$429.41	\$1,642.12
12/26/2023	CHECK 1042	-\$300.00	\$1,212.71
12/18/2023	DEPOSIT	\$80.00	\$1,512.71

# **Account Summary**

Available Balance	\$1,933.84	
Current Balance	\$1,933.84	
As Of	03/15/2024	
Interest Paid YTD	\$0.00	
Interest Rate	0%	
Interest Accrued	\$0.00	
Last Deposit Amount	\$457.00	

A bank made in Louisiana. A bank made for Louisiana.

### ASR Report March 2024

Hello Family my name	e is Robbie	& I'm an	addict.
----------------------	-------------	----------	---------

I'll start with a recap.

Open positions: Secretary Policy Tech Position A&F

There was a motion that came back for minutes to be. Posted to website within 30 days. (Are area passed that vote)

I will be taking the areas voice to the region with the decision of the motion on the floor.

I will need the area donation and travel fund.

thanks,

Robbie L.

# **H&I Area Report**

H&I has still been consistently continuing monthly meetings at the Red River Treatment Center on the 1st Tuesday from 6:30-7:30pm with the men and now on the 3<sup>rd</sup> Wednesday of the month with the women. We continue H&I meetings at the Edgefield Treatment Center on the 2<sup>rd</sup> Friday of the month from to 6-7pm. We are also meeting at the Steps Recovery Solutions treatment facility on the last Friday of the month from 6-7pm.

I would like to thank all those who are a part of this vital service to reach the still sick and suffering addict.

Respectfully Submitted Trevis J H&I Chair

### PR Report March 2024

Hello Family my name is Robbie and I'm an addict

I have updated the website to have the Area Minutes as well as birthday notifications. Please make sure you review for acceptance.

During our last committee meeting we discussed getting with the Jails to see if they have a need for NA literature that region has raised money for.

We also discussed the pamphlet that LHSD puts out on Human Resources. It has the contact number for AA and the treatment centers but not NA. So I made contact with them and gave them our phone number and they will make sure to update it when the new print comes out. I forgot to give them our website address so I will be calling to update them on that as well.

Our meeting with FD went well and I want to bring to the floor the question of our signs. Each area has been allotted \$276.

3.5 X 2(1sided) = \$20 3.5X 2(2sided)= \$25 2.5x5(1sided) = \$30 2.5x5(2sided)= \$38

My suggestion is to order 2 (2.5x5 1sided) & 8(3.5x2(1sided) I am asking for a conformation to make this order.

I also got the Radio Script to contact the radio station to try and see if we can get some airtime This next month I will try to get back on the TV station airtime as well.

Please let me know if there is anything else public relations can do for you.

Thanks for letting me serve, Robbie L.

Hey family,

Literature is doing well.

Sales have been steady. This month I sold

\$52.50 worth of literature. I just placed an

order for \$199.50. Since placing the order I have

sold more literature. Cash on hand will go toward

replenishing stock.

Thank you for allowing me to be of service.

Frank A.

Literature Chair

Date: 3/16/24												
Item	Quantity	Cost	t	Co	st Total	Sale	e Price	Sal	es Total	Cash		
Basic Text	0	\$	13.60	\$	-	\$	16.00	\$	-			
Spiritual Principle of the Day	1	\$	13.00	\$	13.00	\$	15.00	\$	15.00	Money from Area		
Guiding Principles	1	\$	13.05	\$	13.05	\$	15.00	\$	15.00			
It Works How & Why	4	\$	10.70	\$	42.80	\$	13.00	\$	52.00	Literature Sold	\$	52.5
Living Clean	1	\$	11.60	\$	11.60	\$	14.00	\$	14.00			
Just for Today Meditaton	0	\$	10.70	\$	-	\$	13.00	\$		Previous Orders		
Step Working Guide	3	\$	10.10	\$	30.30	\$	12.00	\$	36.00		,	
										Current Orders		
Totals:				\$	110.75			\$	132.00	Donations		
										Cash Turning In	\$	•
Tag / Medallion / Chip										Cash on Hand	\$	45.25
Tags												
White	28	\$	0.56	\$	15.68	\$	0.75	\$	21.00			
30Day	38	\$	0.56	\$	21.28	\$	0.75	\$	28.50			
60Day	37	\$	0.56	\$	20.72	\$	0.75	\$	27.75			
90Day	44	\$	0.56	\$	24.64	\$	0.75	\$	33.00			
6Months	22	\$	0.56	\$	12.32	\$	0.75	\$	16.50			
9Months	20	\$	0.56	\$	11.20	\$	0.75	\$	15.00			
1Year	41	\$	0.56	\$	22.96	\$	0.75	\$	30.75			
18Months	14	\$	0.56	\$	7.84	\$	0.75	\$	10.50			
2+ Years B&G	6	\$	0.56	\$	3.36	\$	0.75	\$	4.50			
Chips												
White/ just for today chip	20	\$	0.40	\$	8.00	\$	0.60	\$	12.00			
30 Day Chip	10		0.40	\$	4.00	\$	0.60	\$	6.00			
Multiple year chip	17	\$	0.40	\$	6.80	\$	0.60	\$	10.20			
Medallions	13	-	3.80	\$	49.40	\$	6.00	\$	78.00			
Totals:				\$	208.20			\$	293.70			
Sub Totals:				\$	318.95			\$	425.70			
JUD TOTALS.				<u> </u>	310.33			₩	423.70			

	Manch 16
Hello Family.	
My Namcia Erica	C. By the and of this mont
I will have the New Yorison of	policy and by the and of this
Hello Family.  My Namcis Edica  I will have the New Yorison of  month. Thank you for allowing to b	e of service
	Egico C.
·	
	1 4 1 1 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	At 168(4) - 10 At 168

### Reports

From: Douglas Fearon (dfearon56@gmail.com)

To: lester4008@yahoo.com

Date: Sunday, March 17, 2024 at 05:38 PM CDT

ACTIVITIES REORT MARCH 16, 2025 DOUG F-CHAIR

My name is Doug and I am an addict. We have game night tonight at the Clubhouse. WE also are planning the fundraiser for the convention on April 27, 2024. We are asking any group or any person to donate for this event if you can. That will make less We have to buy. We are also selling tickets for \$10.00 for a barbecue chicken plate. Location is 701 Veterans Avenue, Alexandria. Chairperson of the convention will be telling his story.

MORE WILL BE REVEALED, DOUG F-CHAIR PHONE #447-1241 Clean & Serene Area Report March 16th, 2024

Hello family, Clean & Serene is doing well. We still have meetings at River City Clubhouse every Sunday night at 7 pm. We average 15-20 attendees per meeting. We have an Area donation of \$ 20- at this time. We have Ashley and Dustin celebrating on March 24th and one new member.

Thanks for allowing me to serve,

Dani P

GSR

Hey family,
Jones Street is doing well. This
month we had 22 members in attendance at
our meetings. We still have meetings every
Wednesday at River City Clubhouse at 7pm.
This month we do not have an AREA donation.

Tuank You for allowing me to be of service.

Frank A.

GSR

Jones Street.

No Matter what Area Report March 2024

Hello Family, my name is Robbie and I'm an addict.

No matter what is still having meetings on Thursdays @ 7 here at River City Clubhouse. Greg H was sick and not able to celebrate. He will update us when he plans to celebrate and I will put it in the binder. We discussed the motion and voted to move forward with bringing the question of why getting the debit card didn't go back to areas.

Thanks for letting me serve, Robbie L GSR

TALKING HEADS REORT MARCH 16, 2024 DOUG F-CHAIR

My name is Doug and I am an addict. We still meet at the Clubhouse at seven o'clock Tuesdays and Fridays. We have \$67.50 to donate to area. We have a conscience on the motion for the debit cards.

MORE WILL BE REVEALED, DOUG F-CHAIR

# Serenity Sisters Area Report

Hey Family,

Serenity Sisters still meets every Monday at 7pm. We averaged 3-5 members per meeting this month. We have no new members this month or upcoming birthdays. We have no Area donation at this time.

Thank you for allowing me to serve.

Ashley CW GSR

# CENTRAL AREA N.A. MOTION FORM

Date 3-16-23
Motion Made By Robbie L Position or Group: No Matter What GS
Second By Doug F-TAKing Hells
Motion Reads: <u>Please resend the motion toget a debit</u> Card & Serd it back to homegroups because it is dauge affoliog & money motion that was not brough t back.
Intent of Motion: To get a conscience en aguisition of a Debit Card.
Financial Impact on Area: (if applicable)
Motion Status For Secretary's use only
1 Main Motion - Yes No Abstain Main Motion Pass Fail
Motion to Amend Yes No Abstain Motion to amend Pass Fail
Main to Table Yes No Abstain Motion to Table Pass Fail